——
==l

i od:i))

FEHISEITEDHER (F6FE~)

A

Rl

7,

-

8,000
7,000
4,000
3,000
2,000
1,000

9y
Sy
14|
€y
cd
g
OEH
6¢H
8¢H
L2ZH
9¢H
G2ZH
vZH
€¢H
ZcH
LZH
O¢H
6LH
8LH
LLH
9LH
SLH
vLH
€LH
ZLH
LLH
OLH
6H
8H
LH
9H

&
——-

T

4,000
3,500
3,000
2,500
2,000
1,500
1,000

500

9y
Sy
4
ey
cd
(R
O€H
62ZH
8¢H
LZH
9¢H
GZH
2ZH
€2ZH
¢¢H
LZH
Oc¢H
6LH
8LH
LLlH
OLH
SLH
v1LH
€LH
CLH
LLH
OLH
6H
8H
LH
9H

——F
==X

KAHT

20,000
15,000
10,000

5,000

9d
Sy
14=]
ed
cd
g
OEH
6¢H
8¢H
LZH
9¢H
G2ZH
vZH
€¢H
¢ZH
LZH
Oc¢H
6LH
81LH
LLH
9LH
SLH
vLH
€LH
¢LH
LLH
OLH
6H
8H
LH
9H




——

75 35 BT

—m—

\

3,000

2,500

2,000

500

1,

1,000

500

9d
Sd
14!
€d
cd
(R
O€H
62ZH
8¢H
LZH
9¢H
G¢cH
v2ZH
€¢H
¢¢H
LZH
O¢H
6LH
8LH
L1H
9LH
SLH
v LH
€LH
¢lLlH
LLH
OLH
6H
8H
LH
9H

5
==X

RFdEY

2,500

2,000

1,500

1,000

500

9d
Sy
14=|
ed
cd
g
O€H
6¢H
8¢H
L2ZH
9¢H
G¢ZH
vZH
€¢H
ZZH
LZH
OcZH
6LH
81LH
LLH
9LlH
SLH
v LH
€LH
ZLH
LLH
OLH
6H
8H
LH
9H

——
=X

FNLET

7,000

6,000

1,000

9d
Sy
14|
ed
cd
L
O€H
6¢H
8¢H
LZH
9¢H
GZH
vZH
€¢H
¢¢H
LZH
O¢H
6LH
8LH
LLH
9LlH
SLH
v LH
€LH
ZLH
LLH
OLH
6H
8H
LH
9H




&
——

R EY

A

A

14,000
12,000
10,000

8,000

6,000

4,000

2,000

9y
ad
14=]
ed
(4=
g
OEH
62ZH
8¢H
L2H
9¢H
G2ZH
v2ZH
€2ZH
¢cH
LZH
O¢H
6LH
8LH
LLH
9LH
SLH
v LH
€LH
ZLH
LLH
OLH
6H
8H
LH
9H

-
==X

T

14,000
12,000
10,000

8,000

6,000

4,000

2,000

9y
Sy
14=|
ey
(A<}
L
O€H
62ZH
8¢H
LZH
9¢H
G2ZH
v2ZH
€2ZH
¢cH
LZH
Oc¢H
6LH
8LH
LLH
9LH
SLH
vILH
€LH
¢LH
LLH
OLH
6H
8H
LH
9H

{REAET

T
== F)

20,000

15,000

10,000

5,000

9od
S
14=|
ed
2d
g
O€H
6¢H
8¢H
LZH
9¢H
GZH
v2ZH
€¢H
¢¢H
LZH
O¢H
6LH
81LH
LLH
9LlH
SLH
v LH
€LH
CLH
LLH
OLH
6H
8H
LH
9H




——
. o

A<HT

25,000

20,000

15,000

10,000

5,000

94
Sd
14=!
€d
cd
Ld
O€H
62ZH
8¢H
L2H
9¢H
GcH
v2ZH
€¢H
¢¢H
LZH
O¢ZH
61LH
81LH
L1H
91H
S1LH
v1LH
€LH
¢LH
LLH
OLH
6H
8H
LH
9H

A&

| e |
7R

/A

——
. o

25,000

20,000

15,000

10,000

5,000

9d
S
14=|
ed
¢y
L
O€H
6¢H
8¢H
L2ZH
9¢H
GZH
vZH
€¢H
¢¢H
LZH
O¢H
61H
8LH
LLIH
91H
SLH
v1iH
€LH
ZLH
LIH
OLH
6H
8H
LH
9H

-
= Fk

R EAET

20,000

15,000

10,000

5,000

9d
ad
4
ey
(4=
(R
OEH
6¢ZH
8¢H
LZH
9¢H
G2ZH
vZH
€¢H
¢cH
LZH
Oc¢H
6LH
8LH
LLIH
91lH
SLH
vLH
€LH
¢LH
LLH
OLH
6H
8H
LH
9H




——
=l Fl

R HET

8,000
6,000
4,000
2,000

9d
Sy
rd
€y
cd
L
O€H
62ZH
8¢H
LZH
9¢H
G2ZH
v2ZH
€¢H
¢ZH
LZH
O¢H
61LH
8LH
LIH
91lH
SLH
vIiH
€LH
ZLH
LLH
OLH
6H
8H
LH
9H

5
—— X

FILTREY

1,500
1,000
500

4,000
3,500
3,000
2,500
2,000

9d
Sy
14=|
ey
cd
[R<]
O€H
6¢H
8¢H
LZH
9¢H
S2ZH
v2ZH
€¢H
Z¢H
LZH
Oc¢H
61H
81LH
LLIH
91lH
SLH
v 1LH
€LH
¢LH
LLH
OLH
6H
8H
LH
9H

——F
==k

BRETEY

A

5,000

35,000
30,000
25,000
20,000
15,000
10,000

9d
Sy
14=|
ed
¢y
g
O€H
62ZH
8¢H
LZH
9¢H
GZH
vZH
€¢H
¢ZH
LZH
O¢H
61H
81H
LLIH
91H
S1LH
v1iH
€LH
¢LH
LLH
OLH
6H
8H
LH
9H




Lk on:1) -

——FX
16,000
14,000
12,000
10,000 A
8,000 r
6,000 =
4,000
2,000
0
ONOVOOTr NMTLONVOOrNNMTOLONODVDOOrANMSTL O
ITIIIIrrr——r—r—r—rrr—r—raAANANAANNANNNANOXXYXrYo
I T I I I I I I IIIIIIIIITIITIIT
B/ HHET E
——FX
8,000
7,000
6,000 /.\
5,000 ./47/
4,000
3,000 ~
2,000 ~
1,000 /

R2 R3 R4 RS R6




